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The problem of momentum spectrum fit at 4010MeV data

* One possible reason Is there are some background processes, such
asD°DO%, D°DOx0 and D*OD%%.

* One possible reason Is there are some difference between left sideband
and right sideband in momentum spectrum shape.

* One possible reason is that MC momentum shape has some problems,
cause the MC momentum shape depends on cross section line shape. |
can not get correct cross section line shape at first.

e | study If MC momentum shape has some problems last week.
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Momentum spectra in MC at 4010MeV for e*e™ — DOD° — k*g~D°



Progress of the second Iteration

Having generated some exclusive MC samples



